
Gain of PMT1 (1100V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=4.2 × 106

pedestal

单光子峰



Gain of PMT1 (1200V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=8.1 × 106



Gain of PMT1 (1300V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=1.4 × 107



Gain of PMT1 (1400V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=2.4 × 107



Gain of PMT1 (1500V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=4.0 × 107



Gain of PMT2 (1100V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=5.2 × 106



Gain of PMT2 (1200V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=1.1 × 107



Gain of PMT2 (1300V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=1.9 × 107



Gain of PMT2 (1400V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=3.1 × 107



Gain of PMT2 (1500V) 

Gain=
𝑃𝑒𝑎𝑘2−𝑃𝑒𝑎𝑘1

𝑅∙𝑒
=5.6 × 107



PMT

Voltage 1 2

1100v 4.2 × 106 5.2 × 106

1200v 8.1 × 106 1.1 × 107

1300v 1.4 × 107 1.9 × 107

1400v 2.4 × 107 3.1 × 107

1500v 4.0 × 107 5.6 × 107

Gain of two PMT2 


